Using displacement reactions to check the reactivity series

What to do

1. Collect 4 test tubes and put them in a test tube rack.

2. The tube on the left is tube 1. Put 2 cm depth of iron chloride in it.

3. The next tube is tube 2. Put 2 cm depth of Magnesium sulphate in it.

4. The next tube is tube 3. Put 2 cm depth of zinc sulphate in it.

5. The last tube is tube 4. Put 2 cm depth of copper nitrate in it.

6. Add one small piece of magnesium to each tube.

7. Look for any changes in each tube. They may get warm, produce bubbles or change colour.

8. Put a tick in the results table if a reaction has taken place.

Put a cross in the results table if there has been no change.

Results

	Metal compound
	Metal you added
	Reaction?

	Iron chloride
	Magnesium
	

	Magnesium sulphate
	Magnesium
	

	Zinc sulphate
	Magnesium
	

	Copper nitrate
	Magnesium
	


Conclusion

A reaction means that magnesium won!

Which metals did magnesium beat? _________________________________

_______________________________________________________________

